
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل النسب المئوية إلى كسور

= ________%
20
67

= ________%
5
30

= ________%
10
61

= ________%
50
100

= ________%
50
68

= ________%
40
33

= ________%
10
78

= ________%
50
68

= ________%
5
47

= ________%
20
74

= ________%
20
82

= ________%
50
79

= ________%
50
69

= ________%
50
76

= ________%
5
70

= ________%
20
66

= ________%
20
30

= ________%
50
67

= ________%
40
15

= ________%
40
63

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحويل النسب المئوية إلى كسور

= 335%
20
67

= 600%
5
30

= 610%
10
61

= 200%
50
100

= 136%
50
68

= 82.5%
40
33

= 780%
10
78

= 136%
50
68

= 940%
5
47

= 370%
20
74

= 410%
20
82

= 158%
50
79

= 138%
50
69

= 152%
50
76

= 1400%
5
70

= 330%
20
66

= 150%
20
30

= 134%
50
67

= 37.5%
40
15

= 157.5%
40
63

www.snowmath.com

https://www.snowmath.com

